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When was the Universal Declaration of
Human Rights adopted by the United
Natioqs '

\(AY” 24 October, 1945
(B) 10 December, 1948
(C) 10 January, 1920
(D) 4 April, 1949

Who amongst the following is
considered as father of India's space
programme ?

(A Vikram Sarabhai
(B) A.P.J. Abdul Kalam
(C) Nambi Narayanan
(D) G. Madhavan Nair

Which of the following is second
largest tribe in India ?

(A) Munda

(D) Bhil

Who amongst the following was
awarded ‘Rajiv Gandhi Khel Ratna
Award’ for 2019 in wrestling ?

(A) Deepa Malik
—(B) Sushil Kumar

(C) Bajrang Punia

(D) Sardara Singh
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ey wieory W) ww pecran T o p
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S.  Which of the following is post disaster

measure ?

(A) Planning and Policies
(B) Early warning

(C) Zoning

Reconstruction

British Prime Minister Winston
Churchill{g:ceived Nobel Prize for

\Mgconomics

(B) Peace
(C) Physics
(D) Literature

Among the following states, which has
highest forest density in India ?
(A) Assam

) Gujarat

(C) Nagaland
(D) Mizoram

8. Ro-Ro ferry, started by Prime Minister

of India connects which two places ?
A) Somnath and Dwarka

(B) Ghoga and Dahej

(C) Bhavnagar and Ghoga

(D) Bhavnagar and Dahej
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9. When was air transport started in
India ?

Mzo
®) 1911
©) 1915
D) 1921

10. On which day the design of the
National flag of India was adopted ?
(A) August 15, 1947
(B) January 26, 1947
(C) June 10, 1947

Mly 22, 1947

11. Who is the current chairman of the
National Human Rights Commission of
India?

(A) Justice K. Balakrishnan

(B) Justice A.S. Anand

(C) Justice S. Rajendra Babu
@) Justice H.L. Dattu

12. When was National Disaster
Management Authority formed ?
(A) 2011

2005
(C) 2006
(D) 2008

Paper-1

10,

12.

WA i a7y afverga e SO g3 7
(A) 1926
(B) 1911
(C) 1915
(D) 1921

Rt gt e % wrew # e A
Tt fapan a7

(A) 3T 15, 1947
(B) Swalt 26, 1947
(C) I 10, 1947

(D) s 22, 1947

wiE # Tt AraTfieR 3 w1 dae
FITT IR 7

(A) Rfd &, Frepe
(B) =IRHfd ¢, 08 3=
(C) e v Ty
(D) = TE.TE. T

Y TG WG NIRRT 1 737w
g 7
(A) 2011
(B) 2005
(C) 2006
(D) 2008
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13. Which of the following atomic power
plants has largest installed capacity ?

(A) ra
\m/::pw

(C) Kakrapar

(D) Kaiga

14. Which is the largest tribe in India ?
(A) Kol
(B) Bhil

Where does Toda tribe mainly lives ?
(A) Rajasthan

(B) Assam

(C) Jammu and Kashmir

(D) Tamil Nadu

What is the minimum land area
recommended for forest cover to
maintain proper ecological balance in

India ?
A 3%

(B) 25%
©) 2%
(D) 30%

16.

17. Which state has the highest potential
for the development of solar energy ?
(A) = Uttar Pradesh

Rajasthan
(C) Madhya Pradesh

(D) Jharkhand
Series-D

13, Frefefta & @ fsm womy o @
wifte e watfaes # -
(A) T 5/30
(B) dmgt
(C) R
(D) &m

g o gt saafa S R 7
(A) &
B) ¥
(C) uI=
(D) TiE

14.

g1 St gEra: HE e wd R 7
(A) TS&EH

(B) W

(C) v 3R Freefit

(D) g

wia # 3fera aifeufes agem s @
% forg feet yft o &1
RefaHme 7

(A) 33%

(B) 25%

(€) 27%

(D) 30%

15.

16.

forg T 3 Al el % e Y waites
gaaR 7

(A) IWWEW

(B) Tw®™

(C) wawRw

(D) wrEvE

17.
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(18)) Which Indian language, is spoke?

maximum in the world after Hindi ?
(A) Malayalam

(B) Telugu

(C) Tamil

. /D) Bengali

19, yuuhasmimum road density 7
) Gujarat

20.

(B) Punjab

(C) Haryana
(D) Kerala

Where is Indian Grassland and Fodder
Research Institute located ?

(A) Lucknow
(B) Jaipur

\_(D) Jhansi

zll

Which is the largest natural port in
India ?

(A) Tuticorin

L
Cochin

(D) Chennai

Paper-1
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(A) wergrem
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(€) e
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22. Ashokan inscriptions in north-western | 22. vl wreTsa ¥ Yymra % Pz IE-vfvan

part of the Mauryan Empire near wr & v % frerda 9
Peshawar were in : A) YR
(A) Devanagari Seript = ko
(B) Kharoshthi Script
- ,,(C’)/Bmhmi Seript (C) weh ferfey
(D) Aramaic Script (D) JATEH forfy &

23. Charvaka philosophical system was |23, STafeg g Somef)
et (A) HmrEr woreft ft wEed o |
(A) Mimansa system & & @ &
(C) e worreft ft e ot |
- (C) Lokayata system —
@f Astika system (D) s someht oft g ot |

(B) Vaisesika system

24, Arrange the following in chronological | 24, frefafas = SesaHER afead

order : ﬂﬁ"l:

‘a Satvahanas a. W

b.  Vakatakas 5

¢.  Chalukyas et .

Select the correct code from the |
following : Preforea & wdl g & 93 FR

(A) c-a-b

_{A) c-a-b

®) abc R

€) bca ©) bea

(D) cba W) oba

Series-D 7 Paper-
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25. Which among the following kingdoms
was founded by two Brothers, Harihara
and Bukka ?

(A) Kingdom of Hoysalas

\J(:)(lirudom of Kampili
Kingdom of Vijayanagara

(D) Kingdom of Kakatiyas

26. The foremost Indo-Roman trading
station in Eastern India was :
(A) Bhagrapir
(B) ,Tamluk
: Rajgir
(D) Arikamedu

27. A historical work “Gaudavaho” like
Kalhana's “Rajatarangini” was written
by :

(A) Banabhatta

i
(C) Sandhyakaranandin
(D) Vakpati

28. The collection of the writings of the
Saivite saints is considered as Fifth
Veda. What is the name of the above

k) A :
(B) Tirumurai
(C) Tolkapium

(D) Silapaddikaran
Paper-I

25. Freffiam oot & @ 2 e, g awn
1 3 frad g A ot 7

(A) Brrwen oa
(B) wmfieht v Y
(©) fagam owa 6
(D) wremifear v Y

26. ol v # vop st 8/30 705

I a1
(A) wmrdix

(B) amEs
(C) Twmfi

(D) iy

FHeE ! TR B TE & R
) g “ohtearay e of

(A) =g gRT

(B) faegmgm

(C) WAl g

(D) STHIf gRY

27.

9 &l % e F wUg B gtaat 37 0
FHH TR | IR TR I AR 7

(A) woidEed
@) fregm
(C) eI

) fawdwa
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29. Quwwat-ul-Islam Mosque and Arhai

19, dEEA-Te1-FEH Afewe v argrd fem

Din Ka Jhonpra are situated 1 witg! ww; e
respectively at : A) s i
(A) Lahore and Ajmer (B) m@“f "
Delhi and Ajmer :
0 | () foeeh v wmdi &
(C) Delhi and Lahore |
(D) i wd foeeht &

(D)~ Ajmer and Delhi

30. mﬁmmmﬁmmm

co ite structure. It was a fusion of : faea @
J(ero-mbic, Turko-Mongol - (A) -3, Toh~TiTer, Wl el
#l

Indian Elements

30. Government of medieval period was a

(B) HH-3E W

(C) h-umire (wea efRra)

(B) Perso-Arabic
(C) Turko-Mongol (Central Asian)

Turko-Mongol (e

(D) FRE-3TE, GH-HT
o) #1

(D) Perso-Arabic,
(Central Asian)

i T i Y7
31. Who was the founder of Visistadvaita | 31. faftre arda fagia & @& TS

(A) Srikanthacharya ®) ;
(B) Madhavacharya ”
Ramanujacharya
‘/‘c{ : (D) W
(D) Vallabhacharya

9 hpey—l
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3.

33.

Permanent Settlement and Ryotwari
System of land revenue introduced
respectively in :

(A) Madras and Bengal

(B) Punjab and Bengal

(C) Bengal and Madras

(D) Madras and Punjab

Arrange the following events of History
of Modern India in chronological
order :
Swadeshi movement
b.  Lucknow pact
¢ Morley-Minto reforms
d.  Foundation of All India Muslim
League
Select the correct code from the
following :

(A) d-a-c-b
(B) a-c-d-b
(C) a-b-c-d
(D) d-c-b-a

Who have appointed First Indian
Education Commission and in which
year ?

(A) Lord Curzon in 1905

(B) Lord Lytton in 1880

(C) Lord Ripon in 1882

(D) Lord William Wedderburn in

1885

Paper-1
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3.

Y-To #) syl ¥ W@ aars
Toeht e w4

(A) e e wme &
(B)  vaimy o wmrer A
(C) = 7 ugra A
(D) wzm Tt qome &

I wrm & sferm 6 Pefarfan
WA #) #e FAHGER  SaEfedm
Fifre .

a. et HEE
R CEE L G)
c. uid-fa gun

d  yfgm widg gféem om 6
T

ﬁuﬁtﬁaﬁﬁaﬁgmww:

(A) d-a-c-b
(B) a-c-d-b
(C) a-b-c-d
(D) d-c-b-a

mmuﬁmmﬁﬁgﬁsm
W fFaad & 7

(A) @ Hd73ad 1905 &
(B) wTE forea 3 ad 1880
() wrEfmadad 8825
(D) Té faferam &erad 3 ad 1835 &
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35. In which of the following parts of India

37.

‘Atolls’ are commonly found ?
(A) Near Lakshadweep

(B) Near Rameshwaram

(C) Near Sunderbans

(D) Near Khambhat Gulf

Which among the following introduced
the Provincial Autonomy in British
India ?

(A)
(B)
©
(D)

Simon Commission
Government of India Act 1935
Government of India Act 1919
Cabinet Mission

Who have introduced the printing press
in India and in which year ?

(A) Frenchin 1745

(B) English East India Company in
1674 '

Portuguese in 1550

Spanish in 1680

©
D)

Which of the following states in India,
do not share border with Bhutan ?

(A) Bihar

(B) Arunachal Pradesh

(C) Assam

(D) Sikkim

Series-D
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35’

36.

37.

= & A wra & feg wm § smra
WaTEN (Atolls) TR wA & 7

(A) =g % e
(B) TAYEW & Pz
(C) T fwe
(D) T H EE S Pz

Frerferfiga 4 @ foraa ffen wra # widta
@ I& $1 ?

(A) HTEHA FHH
(B) WG TSR HAfufaw 1935
(C) T FTHT St 1919
(D) e frm

wrea # fifen S R s s e 1 ?
(A) erefert 3 ad 1745 |

B) ¥y = $fm w3 9 1674
H|

(C) ydmferdt ¥ 15509 |
(D) Warfei A ad 1680 7 |

fort 3 | 1 |1 W T, T & WY
oo et wfean & 7

(A) faemr
(B) FEUTEE wed
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39. Which of the following statements is

true regarding earth movement ?

1. Earth rotates on its axis from west
to east resulting into seasonal
changes,

2. Earth revolution around sun
results into occurrence of day and
night on earth,

(A) Both 1 and 2 are false,

(B) y 1 is true,

(CY" Both 1 and 2 are trye.

(D) Only 2 is true.

40. Indian Satellite Series ‘INSAT’ is an

41,

;:?Jc of :
X Polar orbiting Satellite

(B) Meteorological Satellite
(C) Resource Satellite
(D) Military Satellite

Which of the following characteristic
feature is appropriate for Narmada

) Structural origin

(B) Glacial origin
(C) Volcanic origin™~
(D) Wind origin-\.

42. Whichofmefollowingooamlregim

in India, receives rainfall from North
monsoon ?

~{A) Coromandel Coast

(B) Konkan Coast
(C) Malabar Coast
(D) Gujarat Coast .

Paper-l
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39.

‘l.

42.

R 3 2 7 o gualt & 7 &

damg

L et & aroeft gft w oftem @
Yoi % sy e gRedA g R |

2. vl & o % Rl ok TwR @
?mmtnmaﬁwﬁaiﬁ
|

(A) 19230 smaa g |

(B) %% 1amd|

©) 13237 iag)

(D) Haw2um |

;mmiwm‘msar'wm
(A) et ferfia umg

(B) e fogm weifrm sz

(C) wum IR

(D) &= waftra 3y

e & & o fvie e fe 4 %

ford g # 7
(A) WS o
(B) fewrft qm
(C) areTE e
(D) IFTHA

wra & fr= & @ few i v2w & 3w
ol g A 9wl At & 7

(A) HREEH T
(B) WiHvdR
(C) We&R @2

(D) TwWaAH
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43, ich of the following statements is | 43. ﬁéi%aﬁ:mw HRE H AR T2
true regarding Laterite soil in India ? Faidwai?
1. Laterite soil develops in areas 1. A0 g7 I= a9 S w99l I
with high temperature and heavy hiﬁﬁ@ﬁi‘lﬁil
G 2. Aweya e (ge) TgE A
2. Laterite soil is rich in humus and R 3 of &t 9me, sem 3 F |
: gt I R |
found in West Bengal, Assam
and Odisha. (A) 1922 3@ E )
(A) Both 1and 2 are false. o) i ost
1 is true.
¥ m (C) Faa28AR|
(C) Only 2 is true.
(D) Both 1 and 2 are true. (D) 1923 EAR |
. Which one of the following sector has | 44. Py 3 A Frw 87 8 o 51 3@ YA |
greater consumption share of water in wafyw 8 ?
India ? (A) @
(A) Mining Sector )~ o5 Sl
(B) Industrial Sector
&=
\_ey” Agricultural Sector © ¥
(D) Domestic Sector (D) W&
. Which of the following Indian state has | 45. WG SFFoFT 2011 & FFER fem
according to 2011 Indian population SRR
census ? (A) =i
(A) Haryana ®) e
o N (C) i
( agaland
(D) Goa | (D) T3
Series-D 13 Paper-1
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(' 46. Which of the following is not correctly
B0 matched ?
(A) Article  Parliament may by
222 - law prescribe the
circumstances under
which a person may
be detained for a
period longer than
three months.
(B) Article No person who is
22.1 - arrested shall be in
custody without
being informed, ‘as
soon as may be, of
the ground for such
oy
(C) Article  Right to be defended
22.1 - byalegal practitioner
of her or his choice.
(D) Article  No law providing for
224 - preventive detention
shall authorise the
detention for a period
. longer than three
months.

47. Aspuzolllndianpopulationecnmn,

which of the following states has
largest number of towns in India ?
(A) Gujarat ‘f~ ‘/
(B) Maharashtra
(C) Madhya Pradesh X
(D) Uttar Pradesh

Paper-I
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| 47.
|

|

|

|

|

|

|

14

Preafie i & w7 qafm 7@ & 7

(A) sg=dg 222 - wee Pty g s
sRffdt &
frutor st adh
e ot
7 e & srftrs
feg s =
HqH |

(B) 3g=dz 22,1 - finwm s m
=1fer ) firgar
& SR ) 7Yy
g e
T famn
st & wdff
@1 IR |

(C) 3BT 221 - @d 6 w6 &
Iftmw g
wicram 1
At |

(D) 37T 224 - Pars frw =
IEY F e
+1§ fafty < e
¥ afw feg

Toran s st
T et |

W1 T 2011 & 3w, e # @
form Wit s & ot Y s watfs

g7
(A) TR
(B) WEmg
(C) WA wEm
(D) FR¥H
Series-D
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Whichofthefollov\finganicleisrelmed 4. Prefoftm & & #R @ sgez o

to the representation of Anglo-Indian foraran § s -wrefrat & faffoa g
community in  the legislative wftm ® 7

assemblies of the states ? (A) HT=R2 - 335

(A) Atticle - 335 (B) TR - 333

(B) Article-333

(C) Atticle - 334 00 egaas - 39

D) Asicle - 332 (D) ST - 332

49. 'Who said ‘judicial activism’ shouldnot | 49, 7@ foe e i =nfarh wfipaarare; =t

become ‘judicial adventurism’ ? i snftawars i g =g 7
\J‘)/ Justice Ranjan Gogoi (A) =aragfd T g

(B) Justice Deepak Mishra (B) =ammfd e fasn

(C) Justice P.N. Bhagavati (©) s f. . v

(D) Justice A.S. Anand (D) =rayfd v.uE. HH=

Which of the following case is related | 50. ffafgs § 4 9 @ ar el

to zamindari system ? wgaeT & gafua @ ?

1. Kameshwar Singh v/s State of |, v fig gam fagr o
s 2. THY YT & HETE U

f
2. Ramesh Thaper v/s State © . LRl 2
;

. Motilal v/s State of Uttar Pradesh ! 4. m" e T W gEM

4.  State of West Bengal v/s Subodh |
Gopal ! (A) 1,2,33R4

(A) 1,2,3and4 I (B) 1 32

(C) 1,2and3 = o) ¥ i

(D) 2and4 |

Paper-1
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SI. What is true for Planning in India ?

. In August 1937, the Congress
Working Committee at its meeting
in Wardha adopted a resolution of
national reconstruction and social
planning.

2. Subhash Chandra Bose, in his
presidential speech at Haripura
declared that the national state on
the  advice of planning
commission would adopt a
comprehensive scheme.

3. Modi Government renamed
‘Planning Commission’ as ‘Niti
Aayog’.

4.  Subhash Chandra Bose
announced the formation of a
National Planning Committee
with  Jawaharlal Nehru as
Chairman in 1938.

(A) All are true.

(B) 1and 3 are true.

(C) 3and 2 are true.

(D) Only 3 is true.

52. Union Public Service Commission may
agree to serve the needs of the state
(A) On request of the Governor with
approval of the Prime Minister.
BT~ On request of the Governor with
approval of the President,
) On request of the Chief Minister
with approval of the Prime
(D) On request of the Election
Commission with approval of the
President.
Paper-I '

51.

Wi 8 P S aed A s R 7

I it gt vd smnfees frr
® yeE wiE afbn w3
s 1937 # auf da% 4 g
o |

2. ofgu & s weufa v g
guTTEE 9 3 Qe JE &
s | TP TG 419 Hiadr 5
wiewr Hm 6 grwon # |

3. U1 aR A A9 AET AW
aeere Afa sm fe

4. |uTEZ I A 1938 § FETEET
TeE 6t o § g g
afifer % Fmfor 6t S i o |

(A) sftaE)

(B) 13M3aw¥)
(€) 33R2wwE)
(D) %a@3 TR

Y Tl /1 T T Y SrEsaTsi
#t fd 3 forg wewa & wwar

(A) TsurE Y "t 3k a6
wegfy |

(B) Tsywret # win 3k ey H
wegfi w o

(€) FeE i wir 3k wurE #
wegfa |

(D) Frate smim i gt shopafa 6
wfaw |
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Who is the author of the book -

Democracy and Development i India
from Socialism to Pro-Business ?

(A) Myron Weiner
(B) Partha Chatterjee
(C) Atul Kohli

(D) Vishwanath Mishra

84, Which one is not true for good
?

gov!
A) Religiosity and Emotionality

(B) Participation and Rule of law

(C) Transparency and Responsiveness

. (D) Equity and Inclusiveness

85. A person shall not be disqualified for
being chosen as a member of a
municipality

(A) Atthe age of 19 years

At the age of 18 years
(C) At the age of 20 years

(D) Atthe age of 21 years
Series-D
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53, ‘bl W8 |ewdz @ ifw Wi
afern g A-fae e g #
as o § 7

(A) WTEE Hi
B) T =
(C) g HIEh
(D) fawamm fag

qur & wd § Fiaferfa 4 3 # @
qAAER 7

(A) wfifean Td WIgHal

B) wewfia e fafts & wre
(€) o e e
(D) HWaT Td GHETH

T F1 W g R & R o
i Pt et

(A) 19 =¥ i 3y HT W
(B) 1874 &t g HWT W
(C) 204 #i 31y W W
(D) 21 9d &t g HM R

5S.
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@WmmaMoerw

57.

Jqé.‘\)

“(©)

\_4‘{) Land Revenue
Paper-1

&

Finance Commission to re
financial position of Panchayat 7

The Speaker of a legislative

assembly

(B) ' The President of India I

The Governor of a State

(D) ' The Chief Minister of a State

In the Indian Fiscal federal system,
resources are allocated from the centre
to the states, which of the following is
.Not_a means of resource allocation at
present ?

(A) Transfer for plan implementation
under Gadgil formula

(B)
©

Tax sharing

Grant-in-aid

. Mntrally sponsored schemes

Under constitutional provision of tax
assignment in India, wvh‘:r of the
following is a tax exclusively imposed
and collected by the states ?

) Corporation Tax

(B) GST -
©) _Inoochuf‘

57.

(A) Fam a1 5 spwmg .
(B) W & trpufy
(C) TS0 % nah

(D) =% % g

wmﬁanmmwaaw-

-

#amﬁw%amnwﬁaﬁmm—
m?.aﬁnﬁﬁnﬁﬁaﬁ:mm
%mmwmmi?

(A) mefra @ % i g
FHt== % fore T

(B) & - gryToH
(C) wEES 3qgH
(D) &= yraifia dremnd

WA & ot Fafdamor 3 wdvriye sravr
& ara B & & B @1 w0 R 9 ot
& Tl g0 TR 3 e A R 7

(A) Fm e
(B) M.wm.d.
(€) I

(D) Y-
Series-D
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" In India’s Union Budget, Fiscal deficit
e
means

/{A) The difference between tota)
revenue and total expenditure of

the government.
*@) Sum of monetized deficit and

budgetary deficit

Net increase in

Union
Government's borrowing from
the Reserve Bank of India.

(D) Difference  between
expenditure and current revenue,

current

~ Second Five Year Plan of India was
based on an economic model developed
by
(A) C.H.Hanumantha Rao
(B) Dadabhai Naoroji
_€f” P.C. Mahalanobis
(D) Amartya Sen

61. Which of the following is the correct
of development were introduced
(A) Per-capita Income, PQLI HDI

\“QT P";"

. - ——— — —— ———————— ——— . M Vo S —

19

60. WA # ggl gEadiE A

PR

\ﬂs &

59. W & H2a wee § e 9 w5

reqd g &

(A) i are s & awn
s @ E  wE & o e
st i A @R |

®) T AR o AT TR F G |

(€) wrdg ford &% @ Fp @ F
AR |

(D) a1 @ 3 = 3 F A=
e |

iU
frfta ws wE iga W A
ot |

(A) H.uE. FFEETTE
(B) @rerTs At
() . wEETEtEE
(D) ¥l &

o1, frm # @ 2 @ ww ah 2, Fred 2fifa

famr & wigw! 1 weafaa v a7
(A) wfa=afew 7/, PQLI, HDI

(B) HDI (@ fa@ms qaET), 9
=af wm, PQLI (offas Fraa =1

qEF5F)
(C) wfa=afs #m@, HDI, PQLI

(D) PQLL HD1, ¥fa =fes 3/
Paper-1
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62. NITI Aayog has developed a composite--
index for each state / UT, which
aggregates progress towards each
Sustainable Development Goal (SPG):
and classifies states in achievers, front-

e ® Said
runners, performers and aspirants, On

————, -____‘_-.f“
the basis of this composite index which

of the following state is not a Front-

1 (C) Kerala

(D) Tamil Nadu

63. In India, headline inflation is based on

(A) Consumer Price Index — Rural
Labourers (CPI-RL)

-(B) Wholesale Price Index (WPI) '

m« Price Index-Combined
(CPI-C)

D) Cmmm@m%
(CFPI)

Paper-1 20

62. Y 3mim 3 wAw TSA/EY T 89 %
oo, wrifep e o Ferra b @ <
Wl Gyrofty faer % wEa i SRR
areft sy ) dfera s & o=t )
wiftvaer, o), Foares it Spieh §
arfiga wer § | w8 Wi qEEE &
I e frer # A B |1 JIvf s
TR ?

(A) Tt

(B) femree we
(C) *@=

(D) afirerTg

63. e ¥ ¥fteieh ufe areht gErehifa amata

et &
(A) IY¥IHT G (T Aft)

(CPI-RL) W |

(B) e qE GEHI® (WPI) W |

(C) IMW TN qEwE (V95
(CPI-C)W |

(D) IV WY T gEHiH (CFPI)
W
Series-D

www.governmentexamstutorial.com



“. Which one of the following body i

associated 10 ° Bretton 64. T & A B W v e e wem

Lr' institutions ? e & wafta T R 7
I (A) World Trade Organjgy i (A) fava =mm gy
(wm). Fagrenppa
o (B) International Monetary Fynq

(IMF) ) fmads
‘ (C) World Bank (D) AFTE
¥i United Nations

r
}.‘5' Under Govemment of India’s National | 65, w13 29 T4l 3R 6 ¥a T4 &1 % 312

Air Quality Monitoring Programme WL/l § ATBTE ARA §OHN F TG
. (NAMP) covering 312 cities / towns in 1Y TorEE! wiefn srwn (o)
| 29 States and 6 Union Territories of the 3 afata forer 3 @ e e 3 et e
{ country, which of the following w frafia sl  fm fafsa e

combination has been’ identified for
: regular monitoring at all the locations ?
a (A) CO, NO,, Oxygen Difluoride

27
(A) CO, NO,, HiadieH SHEwINES

| (OF,) and PM, (OF,) T PM,

EI_ (B) Sulphur Dioxide (SO,), Nitrogen (B) W STEHAIEIES (SO,), I

L Dioxide (NO,), Suspended | srisAiTES (NO,), Feif wvfia
v (PM, ) 3R g Hoffa verd

Particulate Matter (PM,;) and |
Fine Particulate Matter (PM, ¢) (PM, 5)

\,(e/ Sulphur Dioxide (SO,), Nitrogen (C) W SHEATFTES (SO,), miz
Dioxide  (NO,),  Carbon. - wHfAlEEs  (NOy),

%
(i
k

Monoxide (CO), and Suspended TrreaTee (CO) @ feifia o
Particulate Matter (PM, ) vard (PM, )
‘ (D) CO,NO,, m,, and PM, D) CO, NO,, PM,, T PM, 5
Paper-I
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66. If the rupees per US Dollar exchange

rate changes from ¥ 60 to ¥ 65 in a time
period by the market forces, it implies

(A) No change in exchange rate
' \/({) Depreciation of Rupee
AC) Devaluation of Rupee

(D) Appreciation of Rupee

67. Chromosomal theory of inheritance

was given by,
(A) Sutton and Boveri
(B) Muller

(C) Waldeiyer

/D) Mendel

¢ iggs Boson are also known as,
(A) Neutrons

(B) God Particles

(C) Electron

(D) Proton
Paper-1
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66.  af uw wma sierer # aventia wfw gwy
fafmra 2t 2 60 wfty sfer @ wem w2 65
wft sfer 8 vt B,

(A) Taffor 2 # = oftads = &m |
(B) 39 1 7 BT € |
(C) 39U 1 Fawea & |

(D) %9u 1 rfergea € |

67. TUrgsET &t FwmTa w1 g R e
(A) TG
(B) TR
(C) =W

(D) HvEH

for wram ) 3o oft st e @

[
oo

(A) FEHFTWR
(B) TEHMFHAMA

(C) PRAFIMA

(D) SRAFIWA
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69. Which is not an insect ?
(A) Bed-bug
(B) Mosquito
(C) Spider
(D) House fly

70, Light Emitting Diode (LED) work on

principle of
Photoelectric code

(B) Electroluminiescence
(C) Laser

(D) Thermionic emission

71. Which one is not an example of
electromagnetic wave ?
(A) Ultraviolet rays
Supersonic waves
(C€) y-rays
(D) X-rays

72. The speed of light in air depends on,
_AA) 1t is independent of pressurc,
temperature and density
(B) Temperature
(C) Pressure
(D) Density

23

9. Praffemddwmdeafit 7
N
(B) W

© v
(D) e

70, WEW IEAH TAE F FE A B
fergr #

. fre # A B 1 Riga-gEhE T

(©) R
(D) x-fertor

7. mﬁmﬂmﬁﬂtmt

St | 4
&) WITT g0y T2
(B) AW ~— A\
(C) TOW
(D) TFEW
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7.

74.

75.

76.

Nitrogen is taken by plants in the form
of

(A) Nitric acid
(B) Chloride *
(€) Oxide *
(DY Nitrate

The basic unit of quantum information
is,

(A) GIGABIT

(B) QUBIT

(C) BIT

(D) BYTE

Cloud computing services does not

include,

(A) Allotment of electromagnetic
spectrum

(B) Infrastructure as a service

(C) Platform as a service
(D) Software as a service

The form of information signal used in
sending fax and email is,

(A) NomofAnalogandDigimw
(B) Analog signal

(C) Digital signal

(D) Analog and Digital signa] both,

Paper-I
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7. i & gro ot o are T

74,

75.

(A) mBw an=
(B) weirye
(C) wiwwmye
(D) Rz

TR A1 1 Y WS R
(A) GIGABIT

(B) QUBIT

(C) BIT

(D) BYTE

By For S e T W f
(A) gA-TH T e
(B) JmuTRe =T HaT

(C) w=da

(D) WA {a

76. %30 T WS A v i v g

Hhd H1 9 BT R
(A) @ E Rfea Rmad s
®) T Ry
(©) Tfwes fow

(D) T uE s fme 241
Series-D



9.

77, First herbicide produced in the world is :

(A) Semazin

(B) 2,4D

(C) 2,4,5-T

(D) Pendimethalin

The deadly disease of groundnut is
(A) None of these

(B) Tikka

(C) Damping off

(D) Powdery mildew

Maize — Potato — Sugarcane (ratoon) —
Moong is the example of crop rotation
for

(A) 4 years

s,(B‘)/lyear

(C) 2years
(D) 3 years

80. The botanical name of macroni wheat

is
S it

(B) Triticum dicoccum
(C) Triticum gestivum
(D) Triticum monococcum

Series-D

77, Wuw w5 fava § Iwrea

78.

79.

25

(A) fofam

(B)
(C) 2,4,5&
(D) YEfefem

droreft @1 sreafie wrfewmes an 8
(A) T A wrf T

(B) fewam

(C) 349

(D) fe snfer

HeE — e~ T (V) — g BEE I
e R

(A) 4adig
(B) 1=l
(C) 2wy
(D) 3=fia

R g 1 ST T R
&) fifewm g

(B) Rfeww swwEn
(©) ffewwofemw

(D) e drwwa
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the leader of Bhumij Revolt 7
) Jatra Bhagat
B) Ganga Narain
AC) Bhagirath
() Dubia Gosain

82. Which of the following mango variety
is mostly exported from India ?

(A) Gaurjeet
) Alphonso

{C) Langra

(D) Chausa

In the times of Mughals the region of
Jharkhand was known as )

(A) Vananchal
(B) Kukra
(C) Atavi

P

84. The British entered into Jharkhand for
the first time from the side of c

(A) Chatra
(B) Palamu
(C) Singhbhum
(D) Pakur

Paper-I

81. Y fgw Mm@ ?

(A) a0 W

(B) T AR

(C) witw

(D) e v

wa & faet # agaraa # Frafa 6 am
aTeft 3 Y B vt & 2

(A) Tivsha

AB) Frewrr

82.

Tl S R FREE HI W &
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g5, Which of the following festivals reveals
the economic condition of Pahari
Kharia ?
(A) Jeth-Nava-Khiya
(B) Maghe
(C) Karma

© (D) Phago

g6, The habitatof _____tribe is known as
“Tanda’.
(A) Mal Pahadia |
B) Karmali
(C) Birhor
(D) Munda

Widow — remarriage in ___ tribe is
called ‘Maiyari’.

(A) Korwa

(B) Ho

(©€) Asur

(D) Uraon

88. What does ‘Ghumkuria’ mean ?
“{A) dancing place
(B) aplace of worship
(C) cemetery

(D) youth dormitory
Series-D

gs, Frefea i & fra vl & et wfym
anfefes fufa e e @ 7

(A) Sy-Tar-fam

(D) =T

(D) e

|

|

|

;s& g o e & 7
I ) TR

| (B) [EE *

I (C) A~

|

(D) FarE
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89. Mount Kailash is situated in which of | 890 &=re wte pr & 3 form &7 # TR

the following area ? L

(A) Nepal AA) FurE
(B) Uttarakhand v(6) IFOEUE
(C) Sikkim (C) fuftem
(D) Tibet D) forea

90. The caves of Palkot are located in | 9p, mﬁm__ﬁmﬂﬁl

—— ' (A) T
(A) Gumla

(B) Hazaribag ) Poo
(C) Ranchi (C) U
(D) Lotwdags D) e

91. Iron smelting is the traditional | 91, ‘W@ TEWr _ Infearedl H T

occupation of _____ tribe. ymtl
- (A) Korba ) HRE

(B) Karmali (B) e
(C) Asur (C) I
(D) Birajia | (D) fafmn

92. Which ofthe following placesisknown | 92, Fr=fFa I % A A SRA TR &

as the village of temples ? sH TR ?
A) Maluti ' (A) T
(B) Sisai @) fwd
(C) Ramijari (€ Twwd
0 St | o
Paper-1 28 Series-D
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0N Which one of the following classical

96. Tax

dance in its present form has influence
of Mughal tradition ?

(A) Mohiniattam

(8) Bharatanatyam

(C) Kathakali

(D) Kathak

World’s most problematic aquatic
weed is .

(A) Trapa

(B) Wolffia

(A) Kakarapar - Gujarat
() Kudankulam — Tamil Nadu
(C) Kaiga- Uttar Pradesh

(D) Kalapakkam - Karnataka

11 of inherited property is
Wealth Tax
(B) Income Tax *
(C) Capital Gain Tax
(D) Land Tax

Serles-D

29

93, fam & F = vl J4 HA FAWH

e 1 gre qrn # yafaa R 7
(A) wfeftaza

‘(/c)/mﬁﬁ

(D) 9%

04, fava $\ walfts queTES Jelid TE-

E

(A) &
(B) wfewan
(€) TSEn
(D) TR

95, ﬁqiﬁmmﬂummmm

FH A TR ?

(A) FHTHTIR — T
(B) FEAHT™ - AR
(€) ¥m -IM W

(D) TETHA — FAH

96. gmTa Tufy & fsh W wET@

L3

(A) "afa
(B) ™™
(€ YPheomw

D)
Paper-1
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98.

Before 1947, 26" January was called 85
(A)
(B)
©
(D)

Constitution Day
Poorna Swaraj Day
Republic Day
Martyr's Day

Which of the following causes
maximum indoor chemical pollution ?

(A)
(B)
©
(D)

Burning cooking gas
Room spray
Burning mosquito coil

Burning coal

Which of the following is one of the ore
of iron mineral ?
(A) Bauxite
AB) Hematite
(C) Chromite
AD) Malachite

100. Which of the following is not a feature

of urban life ?
(A) Loss of humanistic value #
~(B) Informal ties

ympeﬁtion #
) Impersonal relationship

0 IR

papcr-l
www.governmentexamstutorial.com

97.

90'

\

100.

1947 2 T 26 T T
(A) wfm REd

(B) ?fm“f*‘““-’/

(C) e feaE "

(D) s femm 1

frer i & 91 w1 walS T Ty
W o R § 7

(A) @1 R areft e B e
®) =@

(C) TSUHRA AR TS I Hew
(D) IR & T

e & @ @ wltg T T G ISR 7
(A) TR
(B) ¥R
(C) TR
(D) AemETER

e 5 A o oft g ofam o) farstan
g7

(A) Wl e
(B) IvaiE way
() whremat

(D) iafees day
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